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2. ADS-W-FMO035 #R5E 48 #)
T leélzllilll‘éﬁfl\
FEZ(methano ) EEEFMWEBEATEARFE, BEES5 24X "HREER, ZBEEYRE 4120m TF
BERKE, BSITESEFRESE.
= RFIEERFECH :

WA BR A% REEXR #E
HRREUR & 60mLx1 ¥, 4°CIRTF
H— AR 6mLx1 3 4°CIRTF

ARTRERBJLTERAEENIKE, Bm
= ik 1 X 20°C1RTE | 0.56mL RFI—R5IAM®, HE-20°C
HTE, BIEREERM.
el x s IV P BT OR BN 7mL B3 7 7 2 —HE i
wis | SHOEE LS| acke | mn e, BRI A
5B &, REABABHIAF=%H.
R FI WK 15mLx1 # 4°CIRTF
=. FTEREEAM:
BgtR{. 96 FLAR. KiAfR. TR RRE. W8k,
M., EFEZ(methanol) & E 4 -
BIIEN SIS ANEEL 2 MERMFUNE, THRAHERIER, REINRE, BRI
REE!
1. BEARHIE:
D AAMAR: FFERA0.1g AR (KNOEESHIHARTERA 0.5¢) , MA ImL 2BR, #TKE9%.
12000rpm, 4°CE(» 10min, B _EEFEK EFN.
] : SHaAR, TRBALHE (o) « REUERARML)A 11 5~10 BELBIETIZE
Q) HE/MEFEA:

SIWEMARERABEEOERN, BOEFLE, B500 AR MEINN ImL 2BUR, 7E 4°CZ
KARTEIRSEERARRENBNTEKRR), 4°C2 12,000rpm Fi0» 10min, B EEEAFNEEM.
] - FEMAERE, "iRBAR/MAEHEE(10Y:32EU&K(mL)J 500~1000:1 BIEL B TIREL.

Q) REMAR: BENBRATEERN, HEETEOCERLEBRN,
2\ KNSR
A FTHESHRY, ATIKKE 412nm; 7£ EP ERHOKIIN:

WHER L) | WEE =a#
(X f—%)

EFN 100

ZZ1AK 100

B — 90 90

A= 10 10
JBE, F30°CEHT, #¥E 20min

RF= 200 200

SBY, 60°CEMT, B 15min, (BHPREFEEIN
£ 8 F 8000rpm =2 B> Smin) , BLH 200pL ZE 96 7L,
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|4Rth, F 4120m SEBURKIE A, AA=AIIE-A 5,

[E] : FAA NTF0.01, AHEMAFRRMAE VI (08 100pL EZE 150pL, MKFI—HERRD) , SEEM
HARRMERE W, MNNERN VI AW ERAALXEHNTE.
. ERHE:
1. #RfEMZTTHE: y=10.726x - 0.0123, x AtERKE (umol) | yZAA,
1.2 5

y =10.726x - 0.0123
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2, HBRHEAREITE:
FAFE 4 2 (umol/g)=[(AA+0.0123)+10.726+V 1 xV]=WxD=0.932x(AA+0.0123)+WxD

FEE4 2 (ng/2)=[(AA+0.0123)+10.726+V1xV]+WxDxMr=29.86x(AA+0.0123)+WxD
3. RABEEITE:
FAEE 48 (umol/10* cell)=[(AA+0.0123)10.726+V1x V] 4 £ & =D

=0.932x(AA +0.0123)+£RfE % & <D
48 (ng/2)=[(AA+0.0123)+10.726+V1x V] A% & xDxMr
=29.86x(AA+0.0123)-4AfE % & <D

4, RBRAEGRITE:
FAEE 48 (umol/g)=(AA+0.0123)+10.726+V1xD=0.932x(AA+0.0123)xD

S48 (ng/2)=(AA+0.0123)+10.726+V1xDxMr=29.86x(AA+0.0123)xD

W---#fKEE, g V- IIANRBUREFR, 1mL;
V1---t#AREFR, 0.1mL; Mr--- BN F 8, 32.04;
500---ZMFEEE, 7, D---#%RBfEE, RWREAA 1,

M PR L HIEERE:

1 HEFAERER (0.5Smmol/mL) : B 0.105SmL HATHFE (A&, Mr=32.04) E 4.9mL &K
B, RHENE 0.5mmol/mL REIRERER. (MEHMA) -

2 ERERFEEKHEREMANRESENIER: 0, 02, 04, 0.6, 0.8, 1. pmol/mL, tha]{RFESE
R AR B RIRE .

3 RIENEEMERERSE, RELSRIHEIRERZ.
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